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Choose the correct function for the given table.
R X 0 1 -7 —4
f(x) 1 2 -6 -3
a) f(x) =x>-2 b) f(x) = x+1 o fx) = x2
2) X -2 -1 3 0
f(x) -16 -2 54 0
a) flx) =7x° b) f(x) = 5¢ o fx) = 2%
3) X -5 4 -1 6
f(x) 8 -1 -16 19
a) f) =x-17 b) f(x) = 4(x-1) o f(x) = -3¢
4 X 4 -1 0 -3
f(x) 15 5 7 1
a) f(x) = -6x b) f(x) = 2x+7 o f(x) =x-4
2 X 0 2 -2 -1
f(x) 0 6 -6 0
a) fx) = x(-1) b) f(x) =x*-4 o fx) = -6x°
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Choose the correct function for the given table.
R X 0 1 -7 4
f(x) 1 2 -6 -3
a) flx) =x>-2 \byF(x) = x+1 a0 fx) = x?
2) X -2 -1 3 0
f(x) -16 -2 54 0
a) f(x) = 7% b) f(x) = 5 o T(x) = 2x°
3) X -5 4 -1 6
f(x) 8 -1 -16 19
\a)yf(x) = x*-17 b) f(x) = 4(x-1) o f(x) =-3x°
4 X 4 -1 0 -3
f(x) 15 5 7 1
a) f(x) = -6x \by f(x) = 2x+7 o fx)=x-4
>) X 0 2 -2 -1
f(x) 0 6 -6 0
\a)T(x) = x(x*-1) b) flx) =x’-4 o f(x) = -6x°
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